712

[e)
A

J]

o]

ol
RS

=

= vl vt

<

—_—

=

aro

S 7k 7]

©
=

ot

-

—_—

2
N

@ 79




2. 431055 ™5t Ao A= 7HA] vrErofet,

> E

> e 43110

FotE e AE o] A 197 27 shaL, 1 ofd o] A=
nE 002 gt




ES SRS

S




4. oS AR e AR oR e A
279

Jrgyct 2 e
& QY71

.
75°
| S = )
» cf: °
> =g 75°

AR EGANA a9 27= 2=y




= =g s AR

o g2 180° EHEY A

o
= R~

ool

5.

—

Nfo
o7

—

__,AO

-

ul




5 o|AF 130]5}Ql ZFeAZ Zof| 4] 7} 2 429} 6 o]AF 100|512l AFAS
SOl 7P A2 9] AkE e L.

5 o]/ 130]513l &=

%,5,6,7,8,9,10, 11, 12, 13 FoIA 71 2 = 1344t
6014 10015t 4= &, 6, 7, 8, 9, 10 FollA 7P &2 =
dYrt.

whebA £ 40 A= 13 -6 = 7Y




7.

P

221 0] LJEFH 4=0] ¥ Qo] &361x] &

1
ez @75 @9

~&B

3
72—
@ 4

®)91.5

Z=Z o] LFERA 2=0] B 9= 65 %7} 90
Hoh 33 90 ¥ AL FLe 5

3 o
727 Ayt

STk et 5

1

—, 75.5, 90,
5




8. 582438 &esto] wo] xtel7hx] Lehdl 4o} glate] Mo] A7
b Zoto] 45 Fotola

>

> =g 300

582485 =H5to] W2 A2|7hx] LERH 58300 ©] L, HH 3o
o] 2te]74A] YeRH T 58000 0] 22 2H= 5830058000 = 300
ojtt.




G87} Fol gt

A+ ol AFo] 1837 0] a3yt FA ME
O] 5074 S F2 o2 I, MFo|5 H  ALof 5f=2] FLoFA| 2
> £ %
> Heh 200%
TN A= MFo]E 504 §F F2o2 BY] fRof 4FSS
AFOF gy,

w2hA] 50 x 4 = 200( &) YUtk







11.




— ™

™o

— <t

™o

2
15

Juet,

1
3

So] glong Tt AR




e AASA L.

13. o

0 D=

N0

— <




®@

fs] o\ B o]

@ 0-®

©®-0

® @-o

@S-




o

o
1_._._
ol
ﬂEE_
~ O
~ ol
ﬂmM
MﬂAT
I~
)

=
N
‘.Wo
mmoﬂE
N or
~B




B
N

15

@ A%

@ "ER

B
~

el

X




17.

Lol At 24 /18 7P A, oMt eolrt 4 Agel 4

1S ZHA AL Sl U ek A-2ol ¢ et 713

]_

1

< 25 2Ny

(7 74 Aol %)

=(AL0]7} 7} Abere] 7H—r—)><46

=24 x 4— %x?_loowﬂ)

1
A .eo)ob Qmr} 7Fx AbEe] A4
= 24 4 100 = 124( 7))




18.

FEolol 4-L o 2] &0 AFUH. o] FolA 20 L o] &< A+

6
SERELEREEE S
QU7

3 3
QllOL @) 1§L
@ ZE ® 451

~&B

(et & =2

5 2) 3
)= (15 -25) <5
5 4) 3
— (42 22 ) x 2
<6 6/ "5
:21x§
675
13 B
625
—g—li(L)
10 10




19. og F =4 AZ FEYUt 2 o 2 09 2719 2

H

=
>
pZe
© g5V
O

130°
S
A

2@

Mo

7 2% 09| tgzto g 850U,

Ol

7 0L 7 e Hheztoz 135° Ut

wetA ZF G+ ZF ©=85° + 135° = 220° YUt}




20.

o
=

g o7} dj&olHt
(0.76 — 0.63) x 76 = 9.88(m)
o ol Zy .




21.

46%x38x04 O 34x05x4.3

vV V¥
0

i

A

4.6%3.8%0.4 = 6.992
34%x05x%x4.3="731
webA] 4.6 x 3.8 x 0.4 < 3.4x 0.5 x 4.3 YUt}




ted

5 ©

Q.

59.52

.i

B

ol
Ho

L 7Y 2

2=
.

4,6,9,302 =
93 x 64 = 5952 Y

o|J
Ho
o
<
d
bk L%
m o
(@)
L_M J_u
()
G4 e
X
L
A" o

22,




7o) Aolet Alze] Aol 242} 0.2m . 0.3m & Az

2l Y 2o
et 19.5 7HE &4 vige) fIEgle] EA5UTE o] £4 Hig 9
Hol= % m? Q1A 5 L.
» E: m?

> ®gh: 1.17m?

(84 ure] gol)= (el Hol)x (e 4)
=0.2x0.3x19.5 = 1.17(m?)




24.

27 x 43 = 1161 & o]-g-oto] Al4to] B £57S A2

7RIy

@ 0.27x43 = 0.1161
@27 x 4.3 =116.1

D 2.7x0.43 =11.61
@ 27x0.43 = 1.161

® 0.027 x 43 = 0.1161

B

@ 2.7 x 0.43 = 1.161
@ 027 x 43 =11.61
® 27x0.43 = 11.61
® 0.027 x 43 = 1.161




25. ta T wel a5 off ABlT M B2 A2 o= AdA als

AlQ.
D 0.46 x 39 @ 0.46 x 3.9 ® 4.6x39
@ 46 x0.39 @0.46 % 0.39

B ~
@ 0.46 %39 =17.94 : ;TTZ}E] <=
@ 0.46 3.9 = 1.794 : &% A= &
®4.6x39=17.94: i—/F T2k 4
@ 46 % 0.39 = 17.94 : A% T28] 4
® 0.46 X 0.39 = 0.1794 : 2% U|AHg] 4




